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Given the diagram of Fip, 1, assume that the memory Is designed o use

the moest spage 1t can wit.

(%) please datermine the ranpes of the /O space and the memory space

for the systeimn-
(b) What is the address range used for dhe chip 32557 (x 16 B 42 4.5, )
(2} For the 1O address schere, is iLa memory-mapped 150 or isolated
WO? Why?

20 (17%)
For a two-way se-associative cache mesery with its content az shown in
Fig. 2, given a memery read operation with the physical address of
1EEQ4E,
(a)piease datermine whether a cache hit or cache miss will occur?
Explain the operation of the cache access o show the reason why.
(b]What value will be retrieved from this memory read? ( »4 (L IE Ak sfx I J
Taota that the size of the cache is 16K bytes and the block sizefcoche |Ine)
is Pobyles. The figlds in Fig. 2 represent the following mesanings. V: |
means this block is a valid bleck, O atherwise, Dt 1 means a dirty block,
# ctherwise, Fi 1 means the most recently used block, 0 otherwise.

3: (6%) |
A system consisting of only one CI'U, one disk controlter, and main
memory of 168 bytes, does not need bus avbitration scheimne. s this
declaration true or false? Specily your reagorn.

¢: (6]

Tegan a benchmack, we found that computer A which is a CISC computer
tans faster than computer B which is a RISC computer, From this ke, 1
is conclhided the computer A hzs higher MIFS than computer B, Is this
declaration frue or fafse? Specily yaur reason.

50 [6%4)
Wirlual maemary 15 wsed Lo expand the physical address space. §5 this
cleclaation true o false? Specify your reason.

& (173 A sequentind cirowit his 1eed D fip-flope o and 2, toes inpats v ond v, snd
oné gulpor z, Tiw flip-flop equutions ad Lhe Cirewil gutput arc ar
fllowe : '

fhy=ax'y + ad
fhp =8+ 2d
re=f
() Toraw the logie diapram of the cirguis,
(o] Tabulalg Lhe slpte alle.

'?. (162 Construet 2 dizeram of g 8 omeim swilching notwock.  Show the switeh
seLling riprired (0 et inpua 3 10 outpat L,
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2. [17%)  Cousider the fallowing twa Goolean Twxtions
§ o ADF CALF + BINS+ BEF + CODF  JEF +
E=X¥F4+ G where X=d+B+Cand ol £
{1} Slowihat =g
{2} Which ¢rpeeaston is betler 7 WAy 7
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